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UESTION 1
\(/DVhich term represents the ability to increase the computing capacity of a virtual machine by adding memory or CPUs?
A. horizontal scaling
B. elasticity
C. agility
D. vertical scaling

Correct Answer: D

QUESTION 2
What are two benefits of cloud computing? Each correct answer presents a complete solution.
NOTE: Each correct selection is worth one point.

enables the rapid provisioning of resources

has increased administrative complexity

has the same configuration options as on-premises

shifts capital expenditures (CAPEX) to operating expenditures (OPEX)
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Correct Answer: AD

QUESTION 3
Your company has an Azure subscription that contains resources in several regions. You need to ensure that administrators can only create resources in those
regions. What should you use?
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an Azure policy

a reservation

a management group
a read-only lock
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Correct Answer: A

QUESTION 4
What is a feature of an Azure virtual network?

geo-redundancy

isolation and segmentation
packet inspection
resource cost analysis

oo w>

SPOTO®

Website: https.//cciedump.spoto.net/ https.//spotodumps.com
WhatsApp:+86-18344981205 support@spoto.net



https://cciedump.spoto.net/spoto-dumps/?gclidsem
https://www.spotodumps.com/spoto-dumps/?gclidsem
https://cciedump.spoto.net/spoto-dumps/?gclidsem
https://www.spotodumps.com/spoto-dumps/?gclidsem

SPOTO®

Website: https.//cciedump.spoto.net/ https.//spotodumps.com
WhatsApp.+86-18344981205 support@spoto.net

Correct Answer: B

QUESTION 5
How many copies of data are maintained by an Azure Storage account that uses geo-redundant storage (GRS)?
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Correct Answer: A

QUESTION 6
What is used to grant permission to Azure Virtual Desktop (AVD)resources?

Application Security Groups

tags

Resource Groups

role-based access control (RBAC) roles

©Cow>

Correct Answer: D

QUESTION 7
What is an example of vertical scaling in a cloud environment?

adding an additional CPU to an existing Azure virtual machine
adding an additional Azure virtual machine

adding an additional Azure App Service instance automatically
adding an additional Azure Virtual Desktop session host
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Correct Answer: B

QUESTION 8
You plan to deploy a service to Azure virtual machines. You need to ensure that the service will be available if a datacenter fails. What should you use as part of the

virtual machine deployment?

A. host groups
B. proximity placement groups
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C. availability sets
D. availability zones

Correct Answer: C

QUESTION 9
You have an Azure application that uses the services shown in the following table.
Service Service Level Agreement (SLA)
Azure virtual machines 999 %
Azure SQL Database 99.99%

How should you calculate the composite SLA for the application?

A. 0.999 * 0.9999 - 0.9989001 - 99.89001%
B. 0.999/0.9999 = 0.9991 =99.91%

C. Min (0.999, 0.9990) =0.999 =99.9%

D. Max(0.999, 0.9999) = 0.9999 =99.99%

Correct Answer: C

QUESTION 10
You have an accounting application named Appl that uses a legacy database. You plan to move App1 to the cloud. Which service model should you use?

A. infrastructure as a service (laaS)
B. software as a service (SaaS)
C. platform as a service (PaaS)

Correct Answer: B
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